R ) AT R (examebook.com ) i & QE=ZE: Lin. AHRKE. !

2012 7F 10 A m535#E A% W 2 E 48—l %34
sV N2 N R A
U ERERTAE
RIERARD: 00389

FELZAEMNERAERENERA. SEZTEKL.

IEEFERER 5
EEE:
1 BT, SN H G IRRE AR b4 RS SR (I A8 7 2B L
MBS A RE AR .
2. F/NVBUE AR )A, T 2B BB AR BN H B3 Sbn i R AR, M
BT R, PRI B RS . AREEAAEREE Fo

—. BIULUARB(AKXEE S /NG, /@14, £89)

E NI HAANFRTPARE—PMEFEREEKN. Bk, ZESKRIEHIETS -
LAEIERE T AR RN GG, BTS2 it 5 T BAR R A DL SR A 22
BN, KRNEEFW CC D 9272

AWML B. /M EE RS
CAZIG IR D.SERG Y

2.8 TR ERFON GRS HA SRR B 482 ¢ D ) 10-290
ARG B.JE 5T

C. R H 3 Hr D2 Mo HT

3.2 )L G ARfE BER DU A 0 R 2 (R AR S R AL r=—0.8 I, X ULH LT G4 BER B RTA
R Z AL FRZE ( B ) 10-307

AEAR B.fUAH K

C.ZAK D AT o] etk # A

4 B yEA1“25, 26, 30, 37, 37, 31, 23”"HIAREGE ( C ) 10-304

A.30 B.31

C.37 D.34

5.6 RS M 22 BT ECE B A R 1A I T SR MEF S SR T (A ) 2-39
A — IR B. g Th RS

C.— 2 N PR D. 2R A R

6. KT AZRIVRBIEIERIRE C A ) 9-269
ANZERKTHRANZEFRHE R BASRIERIR N &R e

CANZEWI TGS 1o A s D ANZIEATE T4 )L

7 AT AUR R T AR B AR RO H TS ¢ B ) 1221

AN T B LRI ST

CIFRWIF D 5T

8 ARIEAI 36 14 BT AT 1n) AR 20 R B R m I I 2 M S EUG R LR ( D ) 6-174
A ST BUERE FIARHELL B 7 v K br AL

AR R iR B AR (down.examebook.com) FHAEIEIH G 2 RAL N, 1E TR !


http://ikaoti.cn/shop/

R ) AT R (examebook.com ) i & QE=ZE: Lin. AHRKE. !

C.HA LA I RRMEAL DRI
£l i =3 k15
BB

RO TR T AN B R A R AR L, AR L.

Z. EHFEB(ARKXEE 100G, B, E10)
9.2 I U E B A 7UME & I Bei) TAF B RS . WFFv il AT ARV =AN

m. 1-31
10. HAT, FRE2ZRTEE RFAAREAT SR M AT 2 Tk R vk Bkgs
GG ORI E MR, 3273

VLR P N A SRR AR, FRATAPRE i BRI R U 7 oy
KM, 5-134

12 5Fp AN B AT LG, A gnillse BAa Bk ey NS A — e PRI S5 . 6-186
13 AT BN E T3 kI RO e S5l 8-251

14. 5 HADZE R TIEA L, BELK RS EAIASm st w5 R
MEE . FRTIRIGE S E . WA I HAR PSS — RAVRFIE. 8-239

1S 3P BRI T R 2 RS G K IR KPR, 10-289

16. WX 4, 6, 7, 9, 11, 11, 15, 20 XA HHR 2 HIW PRE AR, PB4 2E (R
= 16 . 10-295

17. 88 BH R VPN I E N AN AFE DA T7 1, B B E b PR B R PR
TS PN T4 P . 11-327

18 AR SR F B AR, ISR THRHAHEM %0k &ikik, 3-76

=, MESAEKEL 100E, S0E1S, £109)

SHE/NERMEIRA, FHHITHIE.

19. 5 ML AL w7 AR, Akt — P B 7 ik, 5-129

R,

W AV — Bl B (A 5 7325

20.7E 7] — TS p B AR R R B . 7-224

o

FEF— TS B AR AR A T £ .

VLA HRK B AL PRI ASY, Ut iR a R TR Ak ERE AR BA
M A RTINS, BE R AR R Ty ik 8-238

%

FlA LS H et A MR IR 22 40 3 T I RE b e 08 AR IS AR A AT OSSR IS,
ERINYSECE S L A N PIRr

22 MEEWT TP IR 2 e dabs R REME IR ML R Ris 5. 4-110
st

(=

AR R R BRI (down.examebook.com) FHAEIEIR G SR N A, 1E2 R


http://ikaoti.cn/shop/

R ) AT R (examebook.com ) i & QE=ZE: Lin. AHRKE. !

REEWTFT P IR 52 Lo dibn R REAEIR M LR )i 5.

23 50 E P HCE S LAAGE AT H I, & E A IR R R SRS, 7-203
o

(=

PR PERCE SR LR ST H (1, Pl e A TR I SRR AT 5.

24 BIFTU RTHUAR 1) 5 Tl i 07T SCHRIEA T REL IS X DR B 3 SCRR B 3525V P I i o
3-78
st

(=

D) 58 A o P 8-l 2 i 807 SR A TR g P R TR )

25, p I 2 1 P 2 1) PR PR R D SR R AN E R A B A . 6-165

%
DN 1 2 MR e N B SR G T P 2 PR 0 P PR

26 KEZOMAE P ARAEAL )R Dl 2R IR AT &)y ) LA T R e aKkF-, TRt 36 L 2 s o
6-168
p

ArRAEAL I G A 45 18 A RS AL 0 T REAT 1 I -

27 FECSEIAN LI R A ESN LT 71 R e I SEERAR 9T, &) JLAEES ) B AR B 2 S
) HA . 7-200
SR

By )L 1) F ARG S0 (S AR B

28 AEAT A FUIL RE FH T U EOR A AR I 20 R AT UM A A0 1 i, X AT shiF sl L
AT BT 8-255

%

FEAT BT R P SO A AR 20 AT TO 0 A A0 1 %, X AT shib i R b i
WA

M. ZiRAMBBHRAERTL 7 /NG, §)hE249, H14 %)
2922 HTHE Sk 3-69

%
ST HCH SCRR R R 8 T A RS BT SRR B 22 T80 RHAE A O R A A Rl
Bk, BRI ARNFHAF TS, IR AR E R il 5% .

30.4hFE I A 5-132

&

R, fRIARIEY . B EARTEIE I H I 1 20 G A b 42 8 52 IR 3 A 77 v il
B30 REAS, TE SR A F R A SR HE T AR L ) — R

AR R R BRI (down.examebook.com) FHAEIEIR G SR N A, 1E2 R


http://ikaoti.cn/shop/

R ) AT R (examebook.com ) i & QE=ZE: Lin. AHRKE. !

3JILAEPA 5-134
i

(=

NG BT ORI AT F B F A, DO AR S AT R A

32T 8-251

v

FTEAT I, ARG N INE [ I 205 SO R R PEF T 7, BT R i
PRACE TS B S B a) 8L, 266 18] 2 W o0 b ) St LSk 48L e RSt A T sl b R i — P PR
FIRE P T v o

33.2¢4 10-291
o

(=1

LR TRAT R AR AN IR G B D IEARIEAT 5 5, 1SR WO BEAR AR kAT
EFY AT — Bl BLE T

34 9MERE 7-232

P

HNTE RS TR S I TR S5 1S IR T+ R, B SI208 25 S R b 1E A kb Y 31 A s i 4 5t
ot AR B 4 S FLAB I TR Mg AR 2R .

35 AEREHLARFE 3-89

&

AEBEA LA A 5 A D™ A R LML S U EAT IR 3R o & R AE R TR A A AR M R AN
R~ B S EAT B LA DL R B4R

B, BEBARKEL 6 /NE, B/NES S, 309

36. A IR AL 4 AT A FHE Bl AR BRI . 4-100

%
(1) WEEHBN G AT R
(2) {EIH] AR EHEI 75 5 B 568 R 2 18] HRAH EL 5 5
(3) WS BRI T 52 TS I 30

37.fai b I EGVE FER. 6-173
P

1) IEG e LAEAT 5 PR A3 HT
(2) MEGER RIEER 2
(3) MBEER FIR I E SR 5 .

38 MR A S T e AR R (WA I . 7-229

P

(D BEHLIE RS> FL B IR 5
()W B Fa il 4 s

AR R R BRI (down.examebook.com) FHAEIEIR G SR N A, 1E2 R


http://ikaoti.cn/shop/

R ) AT R (examebook.com ) i & QE=ZE: Lin. AHRKE. !

G “WEIE” W5k
(AT IR AL e RAFIEE 5
(S) P S BT IR S
(O)FEHI BRI ST L R

39N GEWFIT— A IR IR L T T Bk} 2 9-278

K:

(1) S BRBFFON SR IEAAE DL BT

(2) JRMRBIFFONS GR35 B AR 7 S A R L FR) B
(3) SeBRBTFON S PAE A (B B BERL
(4) [R5 1 5 BE B Ao 1 S5 (1 1 2Bk

40 . IR EHIF R BB UE ) 5 Lo 2-54
P

(1) ReHE— ARSI A, IR 5T H b
(2) VBB A2 G B G U 28 3% 9% Bl ) 7 22

(3) fEF R IUE RIS EEARHIT fE

41 TR AW R A Rk 184 3465
K:

1) AR I 50 114y o s it R A 12 5

(20 MO SCRR BRI 43 AT T AR 5 5
(3) MO i) B ) R R 4 AR

7~ TEB(AKEE 2 /DG, §/hE6sn, #1249

SHTIENEMITE LR, SNREERS.

42541t 8 I HUM B E HRe L%k Sl 88, 75, 58, 82, 78, 83, 64, 76. ik
K XA B ) HE AR E A 2. 10-302/303

i
(1) BEARIIH: (88+75+58+82+78+83+64+76) —8=75.5
(2) L.

e/ hRIR (Bl REI N HEFP: 58,64,75,76, 78,82,83,88;

TR 1) R A7 B SR 3550 (76+78) +2=T77

43 FEWTFTE T RIBEAT T %)) ) L lel BOMRMY S A R T AT o0 iR, O H R 40
P BULLIA 3 J3 e IA): A SR 20a ] AR e BENLAIRE (1 77 1R SEAT AR X 1000 44
2 LI BOMREAS, N34T 4 2 3-88
A

ARG TT VA

(D) Sebg B ARSI AR P2 I F 4 1505

(2) wHE A BE,  30000--1000=30;

(3) M5 A 1 4 30 Pk AR — AN 5 80 LI ZUMPE D FEAS, T 105
AR SCRS T YR B 25 BB AR (down.examebook.com) 48 AEHEI A0 SR FRAIL R4, T2 !


http://ikaoti.cn/shop/

R ) AT R (examebook.com ) i & QE=ZE: Lin. AHRKE. !

(4) EEIERFEE, G0 10,40,70,100 2545 H 2 Hhi55 1000 N5 )4 ) LI 2T A 1k .

. WRB(AKREL 2 PR, T8 5, H 165
44 JEE 5 TR ST ) LIE 20 41 ) LD SRS s AR, v R ikt B v ikik.
A :
(1) AEVRRATHT I 5 ZAMOR LR TAE? 5-160
%
VrRMERE TAR RS-
(1) 787> BB VTR A BMIFEF 5
(2) JSATHEHS T A TRN 5 5
(3) MEFEUF3 3 IRV YR N ) AT 53
(4) I VTR T 5 B AR AL

(2) WHFAZVIR BB — VR e . 5-162
s
(=)

BE VTR I RN TR R DRSNS BN e (AR AT S AR P R 7)) B4R
DN VA KD A A3 5 G 1) 10 i DL 25 S 7 R X BT s (K 2

45 Lh—Z AT F K ARG LE VPR S, Bk TRl 9-277
&

Bt JOEAINVATELT

(1) ANZEWTFTIE A H s

(2) ANZEWTFU P AR

(3) WHFTIEh )5 5

(4) N RRER SRS

(5) WL & R 2,

(6) 45T = KRRl )L S TRk

AR R R BRI (down.examebook.com) FHAEIEIR G SR N A, 1E2 R


http://ikaoti.cn/shop/

